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QUESTIONNAIRE ON HOUSEHOLD RESOURCES L
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| STANDARDS OF LIVING IN THE UNITED KINGDOM
1967-68

I Housing and Living Facilities

II Employment

III  Occupational Facilities and Fringe Benefits

IV Current Monetary Income

V  Assets and Savings

VI Health and Disability

VII Social Services

VIII Private Income in Kind

IX Style of Living

A Survey carried out from the University of Essex ! |
and the University of London (L.S.E.) 1

Queries should be addressed to: Miss Sheila Benson
Skepper House
13 Endsleigh Street
London WCI
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